

Po# 117762 BH rec 406455 5125

May 12, 2017

006696

417135

Legacy Project No: 0262.016.000

Project No:

Invoice No:

Mr. Richard Stolleis, PE

Fort Bend County Engineer

Fort Bend County

Engineering Department

301 Jackson St.

Richmond, TX 77469

2013 Fort Bend County Mobility Bond Project

Purchase Order No.: 117762 Amount: \$1,007,875.00

Project Management Agreement Expires: September 30, 2018

For Professional Services rendered from April 1, 2017 to April 28, 2017:

Project Management

Professional Personnel

	Hours	Rate	Amount
Department Manager			
Durgin, Donald	2.00	250.00	500.00
Totals	2.00		500.00
Total Labor			

500.00

\$500.00

13201 Beechnut Boulevard

Professional Personnel

		Hours	Rate	Amount
Designer				
Bathe, Cody		5.00	100.00	500.00
Clerical				
Flores, Layna		3.00	90.00	270.00
	Totals	8.00		770.00
ſ	Total Labor			

770.00

\$770.00

13202 Bellaire Boulevard

Professional Personnel

	Hours	Rate	Amount
Department Manager			
Durgin, Donald	1.00	250.00	250.00
Clerical			
Zalman-Mooney, Angela	1.00	90.00	90.00
Totals	2.00		340.00
Total Labor			

340.00

\$340.00

13203 Chimney Rock Boulevard

Project	006696	Fort Bend County Project Managemen	Fort Bend County Project Management				
Professiona	il Personnel				,		
		Hours	Rate	Amount			
	ment Manager	• • •	*	770.00			
	ırgin, Donald	3.00	250.00	750.00			
	Project Engineer	21.00	170.00	2 570 00			
	cMahan, Michael	21.00	170.00	3,570.00			
Design	et ithe, Cody	10.00	100.00	1,000.00			
מם	Totals	34.00	100.00	5,320.00			
	Total Labor			5,520.00	5,320.00		
	Total Lapoi	•			·		
			4		\$5,320.00		
13207 Lake	Olympia Parkway Segmo	ent 1					
	il Personnel			•			
		Hours	Rate	Amount			
Denart	ment Manager	Hours	Mait	Amount			
_	argin, Donald	1.00	250.00	250.00			
Δ,	Totals	1.00	220.00	250.00			
	Total Labor			250.00	250.00		
		•					
					\$250.00		
13208 Ludv	vig Road						
	al Personnel						
rrotessiona	ii rersonnei	W	D-4-	.			
Damant	mont Monogon	Hours	Rate	Amount			
_	ment Manager 1rgin, Donald	2.00	250.00	500.00			
	Project Engineer	2.00	250.00	300.00			
	cMahan, Michael	23.00	170.00	3,910.00			
IVI	Totals	25.00	170.00	4,410.00			
	Total Labor			4,410.00	4,410.00		
	Total Labor	•			·		
-					\$4,410.00		
3217 Lake	Olympia Pkwy Segment	2					
	ıl Personnel						
		Hours	Rate	Amount			
Denart	ment Manager	Hours	Kate	Amount			
_	argin, Donald	1.00	250.00	250.00			
. 10.	Totals	1.00	220.00	250.00			
	Total Labor			20100	250.00		
			•		\$250.00		
13411 West	Airport Boulevard						
	ıl Personnel						
		Hours	Rate	Amount			
Design	er	Hours	IXALC	Amount			
_	the, Cody	4.00	100.00	400.00			
Di	Totals	4.00	.00.00	400.00			
	Total Labor			100.00	400.00		
	- AMI TMOO						
					\$400.00		

Project	006696	Fort Bend C	ounty Project Manag	ement	Invoice	417135
Reimbursal	ble Expenses					
Reim. I	ExpMileage				36.92	
	Total Re	eimbursables		1.0 times	36.92	36.92
						\$36.92
Recap:			Current	Previous	To-Date	
Total B	illings		12,276.92	983,570.72 √	995,847.64	
Co	ntract Amount				1,007,875.00	
Ba	lance				12,027.36	,
				Total Due This I	invoice:	\$12,276.92
						\$12,276.92 OK, J555
						05/22/17
						05/

Project	006696 Fe	ort Bend Count	y Project Managemen	t	Invoice 4	117135
Billing	g Backup		•		Frida	y, May 5, 2017
RPS Klotz	Associates, Inc. (Live)		Invoice 417135 Date	ed 5/12/2017		8:12:30 PM
Professiona	al Personnel					
			Hours	Rate	Amount	
Department		4/10/0017	2.00	250.00	700 DO	
000640	4 - Durgin, Donald Precinct 2 Progress Meeting	4/19/2017	2.00	250.00	500.00	
	Totals		2.00		500.00	
	Total Labor					500.00
		,		•		\$500.00
Professiona	il Personnel					
Designer			Hours	Rate	Amount	
000620	15 - Bathe, Cody	4/4/2017	3.00	100.00	300.00	
	Received line measurements	and used them	to make an exhibit for	Windstream		
000620	relocations. 15 - Bathe, Cody	4/11/2017	2.00	100.00	200.00	
	Followed up with Windstream					
Clerical 000753	23 - Flores, Layna	4/24/2017	3.00	90.00	270.00	
300733	Tabulate 100% comments	4/24/201/	3.00	90.00	270.00	
	Totals		8.00		770.00	
	Total Labor					770.00
			•			
			•			\$770.00
Professiona	al Personnel					
			Hours	Rate	Amount	•
Department 000640	_	4/7/2017	1.00	250.00	250.00	
J00 04 0	4 - Durgin, Donald review CMT proposal	4/7/2017	1.00	250.00	250.00	
Clerical						
000485	23 - Zalman-Mooney, Angela	4/18/2017	1.00	90.00	90.00	
	Process contract from Reed En	ngineers				
	Totals Total Labor		2.00		340.00	340.00
	1 OURI LABOR					340.00
	,				·	
						\$340.00
rrotessiona	al Personnel		Hours	Rate	Amount	
Department	Manager		110418	Rate	Amount	
000640	4 - Durgin, Donald	4/3/2017	2.00	250.00	500.00	
000640	70% review 4 - Durgin, Donald	4/4/2017	1.00	250.00	250.00	
JUUTU	corner clip proposal	11712011	1.00	220.00	250.00	

Project	006696	Fort Bend County Pro	oject Management	t	Invoice	417135
Senior Proj	ect Engineer					
000750	7 - McMahan, Michael project revieew	4/3/2017	1.00	170.00	170.00	
000750	7 - McMahan, Michael 70% Review	4/10/2017	4.00	170.00	680.00	
000750	7 - McMahan, Michael 70% Review	4/11/2017	8.00	170.00	1,360.00	
000750	7 - McMahan, Michael 70% Review	4/12/2017	8.00	170.00	1,360.00	
Designer						
000620	15 - Bathe, Cody	4/4/2017	3.00	100.00	300.00	
	Looked up information o also contacted the design		pelines a long the	e project area		
000620	15 - Bathe, Cody	4/5/2017	3.00	100.00	300.00	
	Followed up with design information on how depth from surveyor on how the	ns of pipe lines were acq				
000620	15 - Bathe, Cody	4/13/2017	4.00	100.00	400.00	
	Follow up on information	for pipeline elevations	and review for co	nflicts		
	Totals		34.00		5,320.00	
	Total Labor					5,320.00
						\$5,320.00
Profession	al Personnel			:		
			Hoars	Rate	Amount	
Departmen	t Manager					
000640	4 - Durgin, Donald	4/6/2017	1.00	250.00	250.00	
	schedule discussion with	Lyle H.		-		
	Totals		1.00		250.00	
	Total Labor					250.00

\$250.00

Professional Personnel

			Hours	Rate	Amount
Department	Manager				
000640	4 - Durgin, Donald plan review	4/5/2017	1.00	250.00	250.00
000640	4 - Durgin, Donald plan review	4/6/2017	1.00	250.00	250.00
Senior Proje	ect Engineer		•		
000750	7 - McMahan, Michael 95% review	4/3/2017	3.00	170.00	510.00
000750	7 - McMahan, Michael 95% review	4/4/2017	4.00	170.00	680.00
000750	7 - McMahan, Michael 95% review	4/5/2017	4.00	170.00	680.00
000750	7 - McMahan, Michael 95% review	4/6/2017	4.00	170.00	680.00
000750	7 - McMahan, Michael 95% review	4/7/2017	4.00	170.00	680.00
000750	7 - McMahan, Michael	4/10/2017	4.00	170.00	680.00

Project	006696		Fort Bend County Pro	ject Management		Invoice	417135
	95% revi	ew					
		Totals		25.00		4,410.00	
		Total Labor					4,410.00
							\$4,410.00
							¥ -, -2000
Profession	al Personnel						
				Hours	Rate	Amount	
Departmen	t Manager						
000640	4 - Durgi	n, Donald	4/7/2017	1.00	250.00	250.00	•
	ENV Proj	posal					
		Totals		1.00		250.00	
		Total Labor				٠	250.00
							\$250.00
							\$250.00
Profession	al Personnel						
rolession	ai rersonnei			Hours	Data	A	
Designer				Hours	Rate	Amount	
)00620	15 - Bath	e Cody	4/4/2017	2.00	100.00	200.00	
700020		•	th the mud about their			200.00	
		y thought they wou		relocations and a	i sonodulo oi		
000620	15 - Bath		4/13/2017	2.00	100.00	200.00	
		•	us report for relocation	ns			
		Totals	-	4.00		400.00	
		Total Labor					400.00
							\$400.00
	ble Expense	es					
Reim. Exp.		2/22/2017	B ! B !!!	TIG 00 4 + 00 + 1	T. DOT!	1001	
EX 000	000019977	3/23/2017	Durgin, Donald /			12.84	
EX 000000019987 4/19/2		4/19/2017	project scoping meeting / 24.00 miles @ 0.535 Durgin, Donald / Pct 2 Progress Meeting /			24.08	
EA 000	000013337	4/19/2017	project meeting /			24.08	
		Total Reimburg	sables		1.0 times	36.92	36.92
							\$36.92
				·			\$12,276.92
					Total this	Ronart	\$12,276.92

Detailed Expense Report

Friday, May 12, 2017 12:45:43 PM

RPS Klotz Associates, Inc. (Live)

Employee	0006	40 Durg	in, Donald I	VI						
Signed	(191)n	_						
o.gou	V		Durgin,Donald M					STEPA.		
		1	\sim					Post	red	
Approved			2_							
			-Shipp,	lessic a						
Organizat	tion	1.I.TN.MB.HO								
Expense I	Report:	06 April 2017					Report I	Date:	4/7/2017	
Date	Category	Description	Project	Phase	Task	Bill	Company Paid	Account		Amount
3/13/2017	Mileage	CRR Meeting	003062	0000951		X		52175		32.10
		W		County On-Ca			T	: @ 0.505		
	Reason: project m			rom/To: FBc		g	Travel: 60.00	mi @ 0.535		
3/13/2017	Meals/Subsiste nce	e Client Lunch	BSDV00	1TNMBH	0	Ц	Ц	63170	Ď	25.65
Puoinese E	Passani aliant rak	ations & discussion	Business D	evelopment						
	- Stacy Slawinsk		E							
3/14/2017	Mileage	17-060 Pre-bid	003062	0000951		Х		52175		32.10
	-		Fort Bend C	ounty On-Ca	all Eng Serv		-			
Business R	Reason: project m	neeting	Travel F	rom/To: FBC	Purchasin	g	Travel: 60.00	mi @ 0.535		
3/20/2017	Mileage	Harlem 99 Cost Breakdown	003062	0000951		X		52175		32.10
			Fort Bend C	County On-Ca	all Eng Serv	rices				
Business R	Reason: project m	neeting	Travel F	rom/To: FBC	Engineerin	g	Travel: 60.00	mi @ 0.535		
3/22/2017	Mileage	FBC Staff Lunch		1TNMBH	C			63175		19.26
			Business D							
Business R	Reason: Client Me	eeting	Travel Fron	n/To: Sugar L Mark	and, Stacy , Bob, Jillia		Travel: 36.00	mi @ 0.535		
3/22/2017		e FBC Staff Lunch	BSDV00	1TNMBH				63170	<u> </u>	142.35
	nce		Business D	evelonment						
Business R Mark, Bob,	Reason: Client Mo Jillian	eeting - Stacy,	Dusiness D	evelopment						
3/23/2017		Interview -	ADMN00	1TNRWH		П		63175		18.19
		Guillot		0			_			
			Administrat							
Business R	Reason: Interview	/ candidate		l From/To: M nick's Downto			Travel: 34.00	mi @ 0.535		
3/23/2017	Mileage	US 90A at 99 at TxDOT		0000950	WITTIOGOLO	X		52175		12.84
		1,201	Fort Bend C	County Projec	t Managem	ent				
Business R	Reason: project s	coping meeting		Travel From			Travel: 24.00	mi @ 0.535		
3/24/2017	Mileage	Rayford ED #1	007489	0000950		X	П	52175		54.57
			Rayford Ro	ad Constructi	ion Mgmt S	vcs				
Business R	Reason: Project F	ROW Session	Tra	avel From/To:	MC Conro	е	Travel: 102.0	0 mi @ 0.535		
3/27/2017	Mileage	Board Meeting	007185	0000950	001	X		52175		21.40
				lopment Auth						
	Reason: Board M			vel From/To:	Pct 2 Offic		Travel: 40.00			
3/27/2017	Mileage	CRR Progress Meeting	003062	0000951		Х		52175		32.10
D!				County On-Ca			Trough 60 00	mi @ 0 525		
Business R	Reason: progress	meeting	i ravel Fi	rom/To: FBC	∟ngineerin	g	Travel: 60.00	IIII @ U.535		

Detailed Expense Report

Friday, May 12, 2017 1:29:52 PM

RPS Klotz Associates, Inc. (Live)

Employee	00	0640 Durg	gin, Donald M	И						
Signed		otrock rose it goest state over over some state and over	Durain	Donald M						
			Durgin,	Donald M				Pos	tod	
Approved				MILL 1990			r U3	tea		
			Shipp,	lessica						
Organizat	ion	1.I.TN.MB.HO								
Expense I	Report:	07 April 2017					Report I	Date:	4/21/2017	
Date	Category	Description	Project	Phase	Task	Bill	Company Paid	Account		Amount
4/10/2017	Mileage	TF Progress meeting	003062	0000951		Х		52175		11.77
			Fort Bend C	ounty On-Ca	all Eng Ser	vices				
Business R	Reason: projec	t meeting		Travel From	/To: TxDC	-	Travel: 22.00	mi @ 0.535		
4/11/2017	Mileage	Workshop & kickoff	007559	0000950		X		52175		34.78
				ounty 2017 N			T 10500			
Business R	Reason: projec		Note the second second second	om/To: FBC	Engineerin		Travel: 65.00	The state of the s		
4/12/2017	Mileage	CRR Progress Meeting	003062	0000951		X		52175		34.78
Business F	laasani nesias	t masting		ounty On-Ca			Travel: 65.00	n mi @ 0 535		
Business Reason: project meeting 4/12/2017 Meals/Subsiste Client Lunch		BSDV00	om/To: FBC 1TNMBH		ıg	T	63170		51.92	
4/12/2017	nce	iste Cheff Luffell	B3DV00	TTNIVIDITY	0		Ш	03170		51.92
			Business D	evelopment						
Business F Norton & C		Client Lunch Bryan								
4/12/2017		iste Traveling Meal	BSDV00	1TNMBH	0			63170	Ď	36.25
			Business D	evelopment						
	Reason: traveli neal with Bass	ng on company em Talje		22						
4/14/2017	Accommoda s/Lodging/H	ation TN Training lotel	BSDV00	1TNMBH	0			63105	Ď	450.66
			Business D	evelopment						
	Reason: busin	ess development								
meetings 4/18/2017	Mileage	Central Pond - Site Work Interview	007185	0000950	002	X		52175		16.05
		III(CI VICW	EFBC Deve	lopment Auth	nority Proje	ect Man	nt			
Business F	Reason: projec	ct meeting		el From/To: .) mi @ 0.535		120
4/19/2017	Mileage	Pct 2 Progress Meeting	006696	0000950		Х		52175		24.08
			Fort Bend C	County Project	t Manager	nent				
Business F	Reason: projec	ct meeting	Tr	avel From/To	o: FBC Pct	t 2	Travel: 45.00) mi @ 0.535		
4/19/2017	Meals/Subs nce	iste Client Lunch	BSDV00	1TNMBH	0			63170	Ď	96.41
		Lunch - Felecia	Business D	evelopment						
Evan-Smith	n & Stacy Slav	vinski		·						